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Mathematics Answer Key
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(Question 2] (2)
The x coordinate of point A is —6.
Let D be a point on y-axis-such that the area of triangle BDC = 32,
Since the length of line segment CD = 16, the coordinates of point D are (0, 8).
Thus, point P will be on the line y = —2x + 8.
Let the coordinates of point P be (p, p?).
p*=-2p+8
p=-—472
x=-42
[ Alternative Solution]
As point P is the intersection of the line y = —2x + 8 and the function y = x2,
x?=-2x+8
x=-—4,2
A T x=—42
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[Question2] (1)
For triangles ABI and BDG,
angle BCD = angle BGD = 90° (defined in the question) = - - D
angle AIB = 90° (defined in the question) * + + @
From (D and @), angle AIB = angleBGD + - + ®
Since sides AB and DC are parallel, angle ABI = angle CDB (alternate interior
angles) + « + @
angle GDB = angle CDB (defined in the question) + + + ®
From @, ® angle ABI = angle BDG* - + ®
From @ and ®, as two corresponding angles are equal,
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[Question 2) £= 230 g
mark
(Question 3)
MN = 3v2
Drop a perpendicular from O to MN and let the length of the perpendicular be h,,
_ o
h1 - 2
Let the length of the perpendicular dropped from B to MN be h,,
4
by =
2
OH= v54—-18 =6
volume of triangular pyramid B — OMN = volume of triangular pyramid O — BMN
1 1
3 x area of OMN X length of BE = 3 X area of BMN X length of OH
1 /1 1 /1
3 X (EX length of MN X hl) X BE = §X (EX length of MN x hz) X OH
1 1 9 1 1 9
=X (= = X BE = = X (= X X = X
3x(2x3\/§x2\/§) BE = 3% (3 3v2 2\/'2") 6
lengt of line segment BE = 6
Answer: 6 cm 10
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